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QUESTION 1

Refer to the exhibit. 

A known unicast packet is received from Switch-1 on the standby and must be forwarded to Switch-2. How does the
VSF fabric decide which port in the aggregated (ink should forward the packet? 

A. The standby uses its own port in the link aggregation to forward the fabric. 

B. The standby sends the packet to the commander over a VSF link, and the commander decides the correct port. 

C. The standby uses the typical load sharing algorithm, and it might select either its port or the commander\\'s port. 

D. The standby selects the port on the designated forwarder for the aggregation. 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 
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Several interfaces on an AOS-Switch enforce 802. IX to a RADIUS server at 10.254.378.521. The interface 

802. IX settings are shown in the exhibit, and 802. IX is also enabled globally. The security team have added a
requirement tor port security on the interfaces as well. Before administrators enable port security, which additional step
must they complete to prevent issues? 

A. Set an 802. l X client limit on the interfaces. 

B. Manually add legitimate MAC addresses to the switch authorized MAC list. 

C. Enable eavesdropping protection on the interfaces. 

D. Enable DHCP snooping on VLAN 20. 

Correct Answer: D 

 

QUESTION 3

Refer to the exhibit. 

Based on the configuration for the client\\'s certificate private key as shown, which statements accurately describe the
settings? (Select two.) 

A. More bits in the private key will increase security. 

B. The private key for TLS client certificates is not created. 

C. The private key is stored in the ClearPass server. 

D. More bits in the private key will reduce security. 
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E. The private key is stored in the user device. 

Correct Answer: AE 

 

QUESTION 4

The administrator expects the AP to connect to a cluster, but the AP tails to connect. The administrator examines the
configuration of an AP from apboot mode shown in the exhibit. What can the administrator determine about the
configuration of the AP? 

A. The AP is configured to terminate on a non-cluster Mobility Controller. 

B. The AP is configured as a RAP to terminate on a stand-alone controller. 

C. The AP is configured as a RAP to terminate on a Mobility Master. 

D. The AP is configured to terminate on a Mobility Controller in a cluster. 

Correct Answer: C 

 

QUESTION 5

A network administrator configures V5F settings on two Aruba 2930F switches. The switches form two separate VSF
fabrics. What should the administrator check? 

A. that the domain ID matches on both switches 

B. that each switch is assigned a unique VSF priority 

C. that the switch with the lower priority has the lower member ID 

D. that LLDP MAD is configured on both members 

Correct Answer: C 
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